Mole-Mole Practice problems
__H2 +__ O2 ---> __ H2O

1) How many moles of H2O are produced when 5.00 moles of oxygen are used?

2) If 3.00 moles of H2O are produced, how many moles of oxygen must be consumed?

3) How many moles of hydrogen gas must be used, given the data in problem two?

__ N2H4(l) + __N2O4(l) -->__ N2(g) + __ H2O(l)
4)  Determine the number of moles of N2O4 needed to react completely with 

     3.62   mol of N2H4 for the reaction.  

__CO (g) + __O2(g) →__ CO2 (g)

5)  In the formation of carbon dioxide from carbon monoxide and oxygen, how many 

     moles of carbon monoxide are needed to react completely with 7.0 moles of oxygen 

     gas?

__Al2(CO3)3 →__ Al2O3 + __CO2
6)  How many moles of carbon dioxide, CO2, can be formed by the decomposition of 

      5 moles of aluminum carbonate, Al2(CO3)3?

7)       __Ca(OH)2 + __H3PO4 → __Ca3(PO4)2 + __H2O
